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Developing Task 

Answers 

 
Practice 

 

 

Arithmetic 
 

 

Problem Solving 

Task 1                            
Award TWO marks for the correct answer 
of 144 

If the answer is incorrect, 
award ONE mark for evidence 
of an appropriate method, e.g. 

•   8 × 6 = 48 
48 ÷ 4 = 13 (error) 
13 × 13 = 169 

OR 

Award ONE mark for: 

•   evidence for the side 
length of the square calculated 
correctly, i.e. 12 

Answer need not be obtained 
for the award of ONE mark. 

 

Task 2 
 
Award TWO marks for the correct answer 
of 42 

If the answer is incorrect award ONE mark 
for evidence of appropriate working, eg: 

■        28 ÷ 4 = 7 
7 × 6 = wrong answer 

OR 

■        28 ÷ 2 = 14 

Reasoning 
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Day 2 Answers 
14 + 28 = wrong answer 

Working must be carried 
through to reach an answer for 
the award of ONE mark. 
 

Task 3 
Completes all three rows correctly, 
eg: 

  

 rectangle 3cm 3cm 15cm 15cm 

  rhombus 9cm 9cm 9cm 9cm 

  kite 10cm 10cm 8cm 8cm 

  

Measures 

Accept Side lengths in each 
row may be given in any order 

Accept correct values with cm 
omitted eg, for the rectangle: 

•    15     3     15 

or 

Completes two rows correctly 
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